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1. How many points of intersection are there between y = 2% and y = 227

(@) 1
(b) 2
(¢) 3

(d) not existent

2. Let f(z)=zlnz — 1z, z—ié:

(a) 0
(b) 1
() =
@ 3
3. The value of the integral / dr is
(a) -1
(b) 0 g
(¢) In2

(d) not existent

4. The length of the polar curve r = 1 + sin § with 0 < § < 27 is

(a) 4

(b) 8

(c) 42

(d) 2v2+2

1
5. The value of the integral / tan~'z dz is
0

() F-52
(b) 7
() 3
(d) 1
12
4
6. The value of the integral / x;— dx is
i .

(a) 2—-2111%
(b) 2-2In?
(c) -2-2In$
(d) ~2~21n§
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7. The volume of the solid obtained by rotating the region bounded by y = z*, y = 8
and z = 0 about the y-axis is

(a) &

(b) Fm

(€ P

@ 1

(a) 0

(b) 1

(c) e

(d) oo

4n
9 nll)ngo (1 + —) =

(a) ¢

(b) e

(¢) €2

(d) o0 ’

— 1
£ nz=:l nn+3)

() F

(b) 3

() 3

@ #

) = . rint2 )

11. The interval of convergence of ;(—1) mEn 1) is

(a)  (-4,4)

(b)  [-4,4)

© [-22]

(d) (00,00
12 f: n_: =

n=1

(a) 3

(b) 6

(¢) 7

@ %
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13, lim B
(zy)=(00) /22 +9y2 +1 -1
(a) 0
(b) 2
() o
(d)  does not exist

14. Which of the following statements is true? Let (a,b) be a fixed point in R? and let
f(z,y) be defined on R?.

(a)  If both partial derivatives f,(a,b) and fy(a,b) exist, then f is a continuous at
(a,b).

(b)  fay(a,b) = fyz(a,b), whenever both the mixed partial derivatives fzy and fi,
exist at (a,b).

(c)  If all the second order partial derivatives of f exist at (a,b), then f is differ-
entiable at (a,b).

(d)  Even if all the direction derivatives of f exist at (a, b), f may not be continuous

at (0,0).
15. Suppose f(z,y) is differentiable at (a,b). Let Dy(a,b) = 5 and Dy(asb) = 1,
directional derivatives of f at (a,b) in the directions u = (0,1) and v = (2, 2). Then
the gradient vector of f at (a,b) is

zy =1
(a)
(b)
(c)
(d)

(a)  (=5,5)

(b)  (=3,3)

() (5,-5)

(d)  (3,-3)

16. The tangent plane equation of the surface z — 2z = 4tan~1(yz) through the point

(1+m1,1)is

@) @E-00+m)+@y-D+(z-1)=0

() E-(1+m)~@-D+(z-1)=0

() (-QQ+m)+2y—1)+3(z-1)=0

d (z-Q1Q+m)-20-1)-3(-1)=0

17. The maximum value of the function f(z,y,2) = yz + zy subject to the constraints

and y? +22=11is
1

=2

B njw wol—
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18. The value of the iterated integral / / cos(z?) dzdy is
0 y

(a) -1
(b) 0O
() 1
d 3
19. The value of the double integral /AmdA, where R = {(z,y) | 2 >
0,y >0}, is
(a) «
(b) 3
(c) 3
(d) 7
20. The volume of the solid bounded by the paraboloid z = 10 — 322 — 3y? and the plane
z=41is
(a) 67

(b) 127
(c) 18w
(d) 24rw




